:lz+hz+;|h|

at—b
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4 1.

i Ifa=11and b=9, then the value of'
'»

is -

(A) 1 (B) 20
2
(C) L (D) 2
20
2. |f two angles of a triangle are cot'2 and cot!3,
then its third angle is -
(A) 5m (B) It
6 4
(C) 3n (D) &
4 2
3. In a AABC, if 2ZA = 3/B = 6./C, then ZA is
equal to -
(A) 60° (B) 120°-
(C) 90° (D) 30°

If the simple interest on a certain sum of money
after 6& years is 3/8 of the principal, then the
rate of interest per annum is -
(A) 4% (B) 6%
(C) 5% (D) 8%
5. To gain 25% after allowing a discount of 10%,

the shopkeeper must mark the price of the
article which costs him ¥ 360 as -

(A) % 450 (B) T 486
(C) % 500 (D) % 460
6. Average of the 1*' ten odd prime numbers, is -
(A) 15.8 (B) 12.9
(C) 138 (D) 17

7. ‘A’ can do a piece of work in 24 days. If ‘B’ is
60% more efficient than ‘A’, then the number
of days required by ‘B’ to do the same piece of

work is -
(A) 10 (B) 12
(C) 15 (D) 9.6

8. Mohan ris twice as old as his brother. 3 years
ago, Mohan's age was 3 times his brothers age.
Calculate Mohan's present age.

(A) 16 (B) 14
(€) 12 (D) 6

3 3 =y [a?+b%+ab
Qoafy a-uei poo B oA [T

2

o

€ L
20

2. afe v Byt @ Q1 IV cot'2 dUN cot '3 ¥ o

BT H

(B) 20

(D) 2

(A) 51 (B) T
? 4
(C) 3n (O
Vv 4 ’ \
¥ U® AABC H, A 2/A=3/B=64C Bl a1 s
IR B —
(A) 60° (B) 120°
(C) 90° (D) 30°

33&@%?@‘1?6%3&‘#“%%
U HAYT BT 3/8 W B, Al diffich &S B

e — .
(A) 4% (B) 6% Eé
(C) 5% (D) 8%

>/ 10% B B I B 91 25% BT AT T He
@ oy, gaMER P 3603 AN arelt axq @

HeZ fobaer siftra w1 =nfRe?
(A) 450% (B) 486%
(Grs00% (D) 4603
8. o < fawH spT el @ ofd © -
(A) 15.8 B 12.9
(C) 13.8 (D) 17

LA T Bt B 24 AT @R wwar ¥ AR s
AT 60% D B B, AT 8 BN GHA I
A B U ey Y 9 e & -

(A) 10 (B) 12
(C) 15 AD) 96

L HET o Wi W QN g ¥ 3 ay uEd
HIgT @1 3y SUB Wigaj i) 3y A 3 A
A | HIgd @ add= AR] B 7o B |
(A) 16 (B) 14
©) 12 (D) 6
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9. A and B started a business jointly. A’s 9. AakBA Hh B q P Fga A fepar|
investment was thrice the investment of B and - A BT AT 8 @ e B1 A A o el IHD
the period of his investment was two times the fqer @) srafy 8 @& e @) srafy H §T=ﬁ
period of investment of B. If B received ¥ 4000 off | If& B I &M & ®Y H 4000% YT 8T, Sl
as profit, then their total profit is - IABT Bl A & —
(A) % 20,000 (B) ¥ 28,000 (A) 20,0002 (B) 28,000
(C) Z 24,000 (D) ¥ 16,000 (€)24,000% (D) 16,000%
10. Two numbers ‘A’ and ‘B’ are such that the sum 10. 27 W A 3R B U § fb A @ 5% 3R B
of 5% of A and 10% of B is half of the sum of X< @ 10% @1 AT A @ 20% AR B ® 10% D AT
20% of A and 10% of B. Find A:B. 1 T AT 2| A:B SITd PIFTT |
(A) 2:1 (B) 1:3 (A) 2:1 (B) 1:3
(€)1 (D) 1:2 (C) 121 (D) 1:2
11. |n the given figure, ABCD is a cyclic &/ & T$ pfa H, ABCD Ud b aqisl &
quadrilateral whose side AB is a diameter of foraat Il AB, A. B, C 3R D A BrbR WA arel
the circle through A, B, C and D. If ZADC =1130°, q< T @ &1 A LADC = 130° B, dr ZCAB
then find ZCAB. s ST DI —
130° ¢ EE 130° ¢
D
A B A 5 —B
(A) 30° (B) 50° (A) 30° By s0°
(C) a0° (D) 130° | (C) a0° (D) 130° :
12. The number nearest to 43582 divisible by each y/43582 P frhead g o 25, 50 3R 75 §
of 25,50 and 75 is - gAs 4 favrsa 8 - Yor s
(A) 43550 (B) 43650 (&) 43550 @/43650 IR
(C) 43600 (D) 43500 () 43600 (D) 43500 ol
= If the difference betweengpart and%part of a -1/3/?11% sl avar & % HIT 3R % HIRT HT JdR
number is 4, what is the number? 4 ®, dl W @ e? C3xy . Ne
(A) 60 (B) 80 (A) 60 (8Y80 T
(C) 100 (D) 40 (C) 100 (D) 40 -,
14. The distance of RajeeV’s college and his home 1; AT B Piorel 3R BR D QN 80 bl
is 80 km. One day he was late by 1 hour than Uh o g8 Pt ofF @ oIl 9HI 99y §
the normal time to leave for the college, so he 1EC dle o1 ggfoy 9ua uHl T 4 Ry
increased his speed by 4 km/hr and thus he /EE ggr & 3k g8 A I W oy
reached to college at the normal time. What is Ugdl | ’Toflq @) gRafdd @ ¢ 83) Ry aryy
the changed (or increased) speed of Rajeey? a? \3“} S 1%
(A) 30 km/hr (B) 40 km/hr 3 (A) 30 fpefl /ejer (B) 40 M /ey *‘e‘wiﬂj
(C) 20 km/hr (D) 28 km/hr a) /0 (€) 20 fr i /ejer (D) 28 fBH. /ey
3 & X
. S B
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15.
i two numbers is -
is 420. The greater of the
(A) 200 (B) 180
(C) 240 (D) 360
: 16.
16. The reaction between an acid and a base to
. . ¥
give salt and water is - =
(A) Single Displacement reaction g
(B) Double Displacement reaction g
(C) Neutralisation reaction Y
D
(D) Combination reaction o)
N/
17. A nautical mile is equal to -
(A) 2450 metres (B) 2000 metres g
N
(C) 1852 metres (D) 1672 metres fcg
. (4]
18. The cause of sweet taste in fruits is- @18
0N
(A) Ribose (B) Maltose -
(A
(C) Lactose (D) Fructose «—
19. The chief raw material used for manufacturing 19
Rayon is - g _
(A) Cellulose (B) Nylon 3
()]
(C) Silicon (D) Radium and Argon g
20. \Which of the following is the smallest bone in gm-
the human body? " ¢
F
(A) vomer (B) Incus
C D
(€) Malleus (D) Stapes g
21. Which is not correctly matched? cH?!
(A) Ammeter — Electric current g’;
(B) Barometer — Air pressure g‘}
(C) Pyrometer — Amount of rainfall f%’
(D) Anemometer — Wind speed b
22. |, which of the following pairs are the 22,
Iscelectronic ions?
R A (B) Na',0’
(©) mg?, ar (D) k', Ne
30 B Page 4016

The ratio of two numbers is 3-4 and their sum

15. <] GEATHT BT AT 34 & AR TTBT AN 4

3| ST el § W a9 e ® -
(B) 180
(D) 360

(A) 200
(S) 240
e 3 iR U@ &R @ dra Afafear S a
3k gt 3 € 98 B —
(A) Tgrer favera= sifafsba
(B) f3—faxema= arfafehar

(CySeTddB=oT Srfafehar

D) waTwA Al

T el Hiel axTa” EIdl € —

(49‘( 2450 ¥IeR (B) 2000 HIe?

(C) 1852 HeX (D) 1672 HIex
. el A ST BT BRI & — E..':’
(A) TZaTT (B) HATee

(C) wraerst UD) waera
- A & AT § g 81 arel i el A0
5

(A) eferT (B) ATTe

(©) fHfermra (D) XfeTH 3R 7=
fFefaRed & § oA 79 IR @1 G985
BICT EEl 27

(A) arR (B) =1

(C) Hferarq O U
- I W gafera el 87

(A) THICR — fAeq@ oI

(B) apfiey — arperd

(@ arRFey  aul @1 HIA

(D) TiiHifier  ary @1 A

fFreifefiag & @ fva g A STgdEIgoagi D
3R 8? :
(A) Al ¢ (B) Na*,0’

(€C) Mg2' Ar (D) K*, Ne



23. Match the following columns —
Column-|
(a) Smoke
(b) Gel
(c) Emulsion
(d) Foam
Column-II
(i) Dispersion of gas in liquid
(ii) Dispersion of solid in solid
(iii) Dispersion of liguid in liquid
(iv) Dispersion of liquid in solid
(v) Dispersion of solid in gas
Code -
(A) (a)-(v), (b)-(ii), (c)-(i), (d)-(iii)
(B) (a)-(ii), (b)-(iv), (c)-(i), (d)-(v)
(€) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(D) (a)-(v), (b)-(iv), (c)-(iii), (d)-(i)

1302039344

2039344

g
F"r.im
E\__

24. Match List-1 with List-1l and select the correct

answer using the code given below —

List-! List-11
(a) Acceleration (i) Joule
(b) Force (ii) Newton-second

(c) Work done (iii) Newton

(d) Impulse
Code -
(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(C) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(iv) Metre per second?

1302039344 1302039344

5. A plane glass slab is kept over colored letters,

the letter which appears least raised is —

(A) Red (B) Voilet

(€) Green (D) Blue

2. A plant which has green leaves, when placed in

red light will appear
(A) Green
(C) Black

(B) Violet
(D) Red

130-B —

— I

287 i gt @ Sur Ud @uac e @

23. foyeg gfaar o1 gafera £1fso
g1
(a) 3T v
(b) Stet

(i) o1 H uRfera oA

(iii) &a # uRférad ga

(iv) 3T H aRfera ga

(v) g ® afRférad o™

e —

(A) (a)-(v), (b)-(ii), (c)-(i), (d)-(iii)
8 (a)-(ii), (b)-(iv), (c)-(i), (d)-(v)
(@ (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(BT (a)-(v), (b)-(iv), (c)-(iii), (d)-(i)

@qﬁr—laﬁiﬁ—uﬁgﬁ%aﬁﬁmsﬁ?ﬁa

fog T @ &1 TN FR FE IR AT —

- AN
(a) caIROT (i) S
(b) I i) ) GRS S
(c) foram mam wR (i) =g A
(d) 3fTaT (iv) Arex ufd T TIPS
@ —_—

(A) (a)-(ii), (b)-(iii), (c)-(iv). (d)-(i)
(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
€Y (@)-(iv), (b)-(iii), (c)-(i). (d)-(ii)
) (a)-(iii), (b)-(iv), (c)-(i). (d)-()

=

AT AT & G 2feR gad dH 337 €31 e

qdl 8 g @

(A) &Ireq

(C) evy
36/&:» e fSrgn e utear €1

T Y fogqrd o

(A) &3

YRS

& 0
(D) AYen

(B) Jur-tl
(D) ire
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27.

28.

30.

33.

\_-
130-B -

If the position of an object in concave mirror is
at infinity, then the image formed is

(A) virtual, erect, enlarged

(B) real, inverted, equal to object

(C) real, inverted, diminished

(D) virtual, erect, diminished

Clove, the commonly used spice, is obtained

from the -
(A) Root (B) Flower bud
(C) Fruit (D) Stem

- Consider the following statements about

visible light, UV light and X-rays -
(1) The wavelength of visible light is more than
that of X-rays. _
(Il) The energy of X-ray photons is higher than
that of UV light photons.
(Il1) The energy of UV light photons is less than
that of visible light photons.

Which of the statement(s) given above is/are
correct?

(A) (1) and (1) (B) Only (1)
(C) (1), (1) and (M) (D) (1) and (1)
Who invented the safety lamp?

(A) Alfred Nobel (B) Maxwell
(C) Humphry Davy (D) Faraday

- Where has the DRDO successfully test-fired

Helina, Anti-Tank Guided Missile, in April 20222
(A) Kolayat (B) Osian
(C) Pokhran (D) Gajner

~ In which city was the National Co-operative

Spices Fair, 2022 organized?
(A) Chittorgarh
(C) Alwar

(8) Jaipur
(D) Dholpur

Ghazi Khan Barna was presented the Sangeet
Natak Akademi Award by Vice President Shyri

M. Venkaiah Naidu for his contribution in the

field of folk music, he is related to which
INStrument?

(A) Sarangi
(©) Bhapang

(B) Khartal
(D) sitar

27.

28.
NS

ufe stadd adoy i fedr avqg w1 Refa aeq
U 2, b dert arear ufafasg 2

P4 ey e aqrafedd

(B) apdfasd, et aud & dIrd?

(C) aredfasd, e, duq 71 2l

(D) 3y, ¥terr, ¥ 4 wIel

ST SN emAdR UR g¥ATA [HAT AT are
qqrelt 2, foasy e fhar sArar 27

(A) STs (B) T d1 B
(C) B (D) =1
29z yaren, A (UV) T AR THIT @ am

¥ frfafRad sl ) faar @7 —

(1) G JHTE Bl AR, TRI-2 B G777 =
T o 2
() TRI—X BIE &I FHorl T (UV) 757=

< Pre @ g # e B 2

SR U U FweHl H ¥ -/ E =

(1) A (UV) IBT DI & Sl 539 7577
T weE B qe § B9 2 2

2 /8?7
*A) (1) 3R (1) (B) &ad ()
(©) (1), (3R () (D) (1) 3= ()

30.

o

AIE U BT AR e iy o

(A) JrFbe Ao (B) Hargarst
© =z & (D) TS

AU 2022 % DROO W F I YIRS e

(A) Bretrrg (B) MRy
(&) TRy (D) TR

32, 37y \
oIS B Hwen A 2022 F1 SIk
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(A) T?l(ﬁ\@{lrc)

4
(> AR £
(C) \5]\;]\]\’

(D) zﬁ\-nt;

s

TN W qoe @Y o wilg @ a3 o
TSI @ oy wu - rgafy oy ga A T
WU Sred srpred qoaer wer
L GE fyy ey @ v @2

(A) 1y

(B) vg=drd
(C) W{ll{]

Oy fJar



o ::?tyr;li’cr;?:j':t;\:;ro;hrx;?,sit:avc':?cSarr:cr:r?trla' ::‘f‘ 34, %»N\"u-l a4 fua St d Qo qiead 4
Rajasthan government has issued a fin:nc:a(} g B, fora e ”M,N )
sanction  for development  work a'nd e weretl @ A
maintenance of historical sites? & foro facha ergpfa o Y 27
(A) Karauli ~ (B) Udaipur (A) HAA (B) 27T
(C) Ajmer (D) Bundi (C) 1o (D) 471

35. Rajasthan's rank in the Fourth State Food 3% G 2022 ¥ o wReTa e A fro aTAF
safety Index (SFSI) pf the Food Safety and  gIRIEROT (FSSAI) @ Mo won @A G
standards Authority of India (FSSAI) released in m(smnﬁ AT T I #
June 2022 is -
(A) Twelfth (B) Nineth (A) qrexdl (B) =rar
(C) Fourth (D) Tenth (C) =rert (D) =Hal

36. ‘Thar Mahotsav 2022’ was organized in which M HETeHd 2022 1 ATATTT AT P fra
district of Rajasthan? o1 # far Tar?
(A) Jaisalmer (B) Bikaner (A) FFTHR (B) fr&T¥
(C) Jaipur (D) Barmer (C) FaqR D) ATSHY

37. Rajasthan Tourism Department organized 'Folk % <o e faurT A fha wweird @ JEATT
Safar' in collaboration with which institute? 1 HrE GHY BT A [HAT?
(A) IMF (B) ASEAN (A) 3718 TA.UD. (B) IRy
(C) UNESCO (D) UNICEF (C) DT (D) gfra®

38. Which body of Rajasthan was conferred with 38. 3o @ fhd frpTa @Y TS 1 AT TR
IBC Excellence Award, 2021 in April 20227 argrs, 2021 dq ad 2022 H FHEITA THAT
(A) Rajasthan Tourism Development e

Corporation Ltd. E (A) Iy gded fqara FH S

(B) Rajasthan Housing Board = JB) IISTRRATA JTaTHA "
(C) Rajasthan Medical Services Corporation (C) <roreerr fafdcar @ar 174
(D) Rajasthan Urja Vikas Nigam Ltd. (D) JTSTeI Tt faepra fmrs T

39. Where has the foundation stone of Rajasthan's 3ﬁi W & Ugd Frgdiad afecar &
first Ayurvedic Medical Center, Health and Ue A9 Jex &1 [raArard eE - E
Wellness Center been laid? ﬁ"” mar g«
(A) Khimsar (B) Khamnor (A) Ramar 4B) T
(C) Kotra (D) Karanpur ) prex (D) =

0. Who e-inaugurated the first virtual court of 40 " ARITT ol UYH d
Rajasthan? AR
(A) Vasundhara Raje (B) S. 5. Shinde (A) GHaRT 7 gy
(C) Tikaram Jully (D) Ashok Gehlot (C) STbH (D)

" Longitudinal dunes ar€ found in which districts a1 Yd-Igddl gl
of Rajasthan? B
(A) Jaisalmer (B) Gangdnagar ) Sl 8
(©) Churu (D) Bikaner (€) (D

i 130-8‘1 - page 7 of 16



42. Match List - | with List — Il and select the correct

answer —

List-I List=ll
(Wildlife Protected Area) (District)
(a) Jodbeedepadhwala (1) Jhunjhunu
(b) Guda Visfpoiyan (2) Nagaur
(c) Gogelavd (3) Jodhpur
(d) Beed g (4) Bikaner

(W) a1 b£¥3 da  (B) a1 b3 cd,d2
(©) a4,b322,d1 (D) ad b3, c1,d-2

43. Which one of the following pairs is not correct

regarding the folk dance of Rajasthan and its
area of praetjce? ‘

(A) Gindar @nce - Shekhawati

(B) Dhol D@e - Jalore

(C) Dandiy&Sance - Marwar

(D) Bamarsg@Dance - Bikaner

The Rajastgni folk song ‘Pavana’ is sung by
females -

(A) while \A@J;ing for marriage

(B) on arrivatof new son-in-law

(C) on birtknf son \

(D) while \A@(ing in the fields in chaitra month

Arrange tl"%following victories of Alauddin
Khilji chrondfagically-

(1) Suwana‘_

44

(2) Jalore

(3) Chittor <t

(4) Rantho@hore

(A) 1,2, 3,8 (B) 4,213

(€) 4,31, (D) 2,3,4,1
O

Nandsa Yugidscription is found at -

(A) Bhilwara (B) Udaipur

(D) Kota

46

(C) Banswara

47 What was the per capita income of Rajasthan

In 2020-21 at constant (2011-12) price?
(A) 72387 (B) 72297
(C) 71297 (D) 70297

—_—

L S —

2. A1 B gh-n s e gafad &Y i w8

- A
(a=aoftg W &) (Rorem)
(a) Sedts Tearar. 4y (1)
(b) TeT faegar (2) AR
(c) TR \(8) SR
@@ - 1 o) @R

(A) a-1,b-2,¢-3,d-4 (B)a1,b3 cad?

(9)a-4, b-3,¢-2,d1 (D) a4 b3 c1,d2
4. IFRIE & AP Jd Td IHD UdAT &9 7
dey W fEfafad 4 @9 @ g wd
87
(A) e J1 — @mEred
(B) Tl I — SITEIR
(©) sifear I — ARare
O IRRAT 9 — FHTR
M, ot e e AfReret grr T
NIGI

(A) =IreY 1 efle o gY
BYTU TMIE & N W
©) R B 9 W
(D) 3 o1 § Wi § FR B Fw
B yersdd faeoh 1 v o =
/Eﬁmmﬁ%a%ﬁm—
(1) Ryamr (ye
() SreR - _
() farcre - 130 W
(4) RoRRR -5
(A) 1,2,3,4 B)4,21 3
©4,31,2 (D) 2,341
46. e U arfverg o T §
@Y fierarer (B) SR

(C) arqarer 4 (D) ®dreT §
\:‘7 ReR drweli (2011-12) W <oy @) ufo
AT amy 202021 1 fhas ofy?
(A) 72387 (B) 72297
(C) 71297 (D) 70297



48. Who was the founder ruler of Kota state?
(A) Kishor Singh (B) Madho Singh
(C) Jagat Singh (D) Ram Singh
49. Which of the following (Fort — Popular Name)
is not correctly matched?
(A) Taragarh fort (Ajmer) — Garh Bithali
(B) Mehrangarh fort (Jodhpur) — Mayurdhwaj
Garh
(C) Nahargarh fort (Jaipur) — Sudershangarh
(D) Bhatner fort (Hanumangarh) —
Koshvardhan
50. Which one of the following pair (Fair-place) is

not matched correctly?

(A) Badshah fair — Beawar : E
(B) Mata Kundalini fair — Rashmi -
(C) parshuram Mahadev fair — Revasa
(D) Laldas ji fair — Dhauli Dub

51. How many military cantonments were there in

Rajasthan at the time of Revolt of 18577
(A) 6 (B) 4
(C) 7 (D) 5
52. \n which ruler’s reign did the art of ‘Meenakari’
in Jaipur come?
(A) Man Singh-I (B) SawaiJai Singh—I
(C) Bharmal (D) Sawai Jai Singh—lI
53. Who is famous as ‘Meera of Vagad'?
(B) Kali bai

(D) Pushpa bai

(A) Gavari bai
(C) Karma bai
54. Which of the following dialects is not
considered a dialect of Rajasthan?
(A) Bundeli (B) Mewati
(C) Ahirwati (D) Malvi
5. Read the following statements in relation to
1857 rebellion in Kota.
(1) The rebellion was lead by Jaidayal and
Mehrab Khan
(2) Dr. Sadler and Major Burton were killed by
rebel state Army of Kota

Choose the correct code
(B) Only ?

(A) Both are correct
(D) Only !

(C) Both are wrong

130-8 -

A8 mYer o wl AT D B AT
(A) fohone (4 By e fre
(C) wrirer e (D) o157 frrz

a9, (yiferfege o @ e (47
gafera 81 27
(A) aRTTE G11 (3TH7)
(B) ¥&xTTTG g1 (SIYR) — HY7eAA 12
(CLATETE i (FIYR) - qaIATZ

<9)Gﬂ€f|? LUl (BWW‘ Z) — BITaEA <

Arepfoan Am)

e fasan

(B) wIAT GOSN T HeAT — T

@{WWW—W

(D) AT St T Hell — &l 59
5}1857$m$wwﬁﬁwﬁ*:ﬁ?

44

f
\

wrafaar ofi? 2
() 6 (B) 4 32,
-
€ 7 (D) 5 ~
MFABTA H ATAT? -
(Q)-ATRIE— (B) TaTs FarE—

(C) YA (D) Fare TTHE- g
53. ‘anTg # ART & w9 H T UHE 2 50
(O SEMIEIS (B) FHTAT T3 ~
(C) ®eHr arg (D) geT qTE =~
Q‘/ﬁ—:{w U g e grd] TARrE 3 »-:—?\
el /I AT -

@& gaen (B) Hare

(C) mﬁ (D\ psa =t A
55. HAH 1857 q =0 o Pyavs ‘_g
r'ﬁ‘-fﬂ‘u 21 F1 g0 \~\
Td hHT F 2 Pk
L‘/‘vije‘ GG bT 4 171 r\\
q Th? | -
har o N
/‘ bIcT &7 (et T3 \ 3 3 g F‘z
1 | I N _ —

(B)
(D)
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%6 Wakal, Meshwa and Hathmati are tributaries of 3/ a1l Near qorr morfy fba T8 A Hapg,

which river? Tfear &2
(A) Sabarmati (B) Som JA) Travad (B) w1y
(C) Western Banas (D) Jakham | (©) af¥et ey (D) STRgw
"7 Legislature of Rajasthan State consists of - ‘5y ISR /50 & furvser 3 snfas g -
(A) Legislative Assembly only (A) Baet e <y
(B) Legislative Assembly and Legislative (B) It vy aiie . afwg ,
Council ‘ E
() Governor and Legislative Assembly ‘ 9 ST 3R ey wm :
(D) Governor, Legislative Assembly and R N e— AR R afe
Legislative Council
8- In which of the following districts, tropical dry B 7 4 A frw B 4 I SWefeaty
deciduous forests are not found? JoigTel g SRR A 4
(A) Sirohi (B) Dholpur JA) RIS (B) iz
(C) Alwar (D) Bharatpur (C) 3= (D)
59.

Which of the following is not related to the 59/ fFrefafed & ¥ @9 ISR A &l 79
development of Rajasthan folk art and culture? AP & o ¥ dafg T 87

(A) Ramlal Mathur ~ (B) ShankarDeo = - (A) RT7etTer R (B) 3i5R 27 zFTe
Phakal © <Hieter wR (D) Prer ey
(©) Devilal Samar (D) Komal Kothari
Y What is the new name of Kolayat Lift Canal? 89 Fre forge TR BT T 91 77 22
(A) Guru Jambheshwar Lift Canal (A) TS SRveR forge &
() Dr. Karni Singh Lift Canal AB) 1. Ixof Rig fore TR
(©) Veer Tejaji Lift Canal ' (©) 4R Josh e TR
(D) Pannalal Barupal Lift Canal , (D) v=rrerrer areTer forme T&=
51. When did Rajasthan Human Rights Commission 61, NSRRI Aeqiye R I FY yRgw @
came into existence? MTe
(A) 18" January, 1999 (B) 26" January, 1995 B) 18 THad 1999 (B) 26 TR 1995
(C) 10" December, (D) ynd October, 1990 (©) 10 fewaw, 1908 (D) 2 JFTER. 1990
1998 ’
“?* Who is the author of the book ‘Buddhi vilas'? 82 If&—fem W @ e P
(A) Hemchandra Suri  (B) Somendra f\’ (A) By o) (B) \m
(C) Rajshekhar (D) Bakhatram sap, (©) 9w (D) SgTRH &
" which year Mayo College (Educationa| 8 SR Rera i) A (Fheror o) @
n<titute) was established in Ajmer? Y gy ge?
(A) 1883 Ap (B) 1869 AD M 1883 4 (8) 1869 ¢
©) 1870 AD (D) 1875 AD ©) 1870 4 (©) 1875 ¢
J-B - Page 10 of 16



64.

- 65.

66.

67.

68.

69.

130-8 —

Which of the following statement is incorrect -

about the Chambal Basin?

(A) Vindhyan scarplands are not associated
with Chambal basin.

(B) Chambal basin has vast ravines.

(C) In the south of Chambal basin, there are
low hills which are called ‘Dang’.

(D) Chambal originates from Janapav hills in
Mhow tehsil near Indore in Madhya
Pradesh.

Which one of the following (thermal power

project — district) is not matched correctly?
(C) Giral — Bikaner

E._::
(D) Kapurdi and Jalipa — Barmer
Which of the following folk deities helped Rao
Jodha in conquering Mandore?
(A) Mallinath ji (B) Ramdev ji
(C) Hadbu ji (D) Mehaji Mangalia

Who among the following has held the post of
er and Deputy Speaker

(A) Kawai — Baran
(B) Kali Sindh — Jhalawar

Protem Speaker, Speak

of Rajasthan Legislative Assembly?

(A) Dr. C. P. Joshi (B) Poonam Chand
Vishnoi

(D) Samarath Lal
Meena

(C) Ram Kishore Vyas

Under which Article of the Indian Constitution,
the Rajasthan State Election Commission has
been constituted?
(A) Article 253

(€) Article 273
Which of the following statement is not true
with respect to Kalibanga?

(A) Here the remains of Harappan and pre —
civilization have been found

(B) Article 263
(D) Article 243

Harappan
from the excavation work

(B) It is in Hanumangarh district

(C) 1t is an urban civilization

(D) Civilization of Kalibanga wd= spread on the

banks of Ahad river

o4

Wﬁmﬁr@ﬂﬁ@ﬁméﬂm#mmﬁ~;-
ﬁ%ﬁﬁﬁmmﬁ?

[ AH=ANId < @it b Hr=Ash =

qR A Terd 27

A) fierr @i gfvll dad afE A ddtad
SRR

(B) gl afert @ fazmet arfear 2|

(C) zigdl AR @ <feror H A gsifsar 2
1 SN el HIdl 2 |

(@) Tdal 1 I 7T Al galy & qT4d
3 ZTd7

wg gl # ST &1 garfsar

(A) Hoa=TeT il (B) ¥red Sl

() g8Y oft (D) FgTofT AFT AT
Wﬁﬁﬁmﬁmﬁ" S

THTAT 27

@Byt W @ Sl (B) g AR TS

(C) 319 iR =

(D) FHATA HoTT

yWWWﬁUWWTT“f
dfderE & fba sreoe & o e

(A) 38T 253
(C) arqe8< 273

(B) 3 :\:\-%I _‘C‘_:

(9*:»1@’?:'?» 043

ga/aﬂ—oﬁam P Hed # fAEferrdd
®A JI 8T 2°

(A) ET

RISC G B 31 P e

BTN FRIAT B a9y Al €

(B) g EHITITG $ forel H =

(€) a8 Vb iy a2

% SARICRT

1-/
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70.

71. The Battle of Harmada (1557 AD) was fought -
(A) Between Maharana Sanga and Mughal
Emperor Babur
(B) Between Maharana Udai Singh and
Banveer
(C) Between Sawai Jai Singh and Marathas
(D) Between Maharana Udai Singh and Haji
Khan
72. Which ruler is called the ‘Hindupat’ in the
history of Rajasthan?
(A) Maharana Rajsingh (B) Maharana Sanga
(C) Maharaja Raisingh (D) Maharana Kumbha
73. The height of which of the following Aravalli
peak is less than 1000 meters?
(A) Raghunathgarh  (B) Naag Pahar
(C) Guru Shikar (D) Kumbhalgarh
74. |n which district of Rajasthan is Ojhiyana
archaeological site located?
(A) Hanumangarh (B) Udaipur
(C) Tonk (D) Bhilwara
75. ‘Marwar Lok Parishad’ was established in the
year -
(A) 1941 (B) 1935
(C) 1938 (D) 1932
76. On which part of female body is Timaniya
ornament worn?
(A) Neck (B) Ears
(C) Ankle (D) Hand
77. Kinsaria (Nagaur) is famous for the temple of
which Lokdevi?
(A) Kodiya Devi (B) Kewai Mata
(C) Chheenk Mata (D) Jilani Mata
78. The ‘Veer Bharat Sabha was founded
DY oo in Kota
(A) pyare Ram (B) Kesari Singh
Barhath
(C) Savarkar (D) Sadhy Sitaram Das
130-B —

Raniji Ki Baori in Bundi was built by —

(A) Hadi Rani
(C) Rani Padmini

(B) Rani Nathavati

(D) Rani Karnavati

70. & A I N A AR FED g™

¥ e T
(A) BT I B) Y oy
(C) 3= ufsr (D) I FHorigdy

q’{‘/m@g@(ww@a@rnmm_
(A) HERTOT FETT T JITel FAC d1dR @

(B) RV ISIRIE Ud I9dR & Hey
(Cyars STafiE vd "HRIST & e
(D) WERTOT ISURiE Td 8Nl |l & 7y

72. o @ gfaera § U 6w
PHET ATl 87

13020393

€

™M
Q) (A) wEREN IoIfdE (B) HERION i
cv-) .
g (C) HEWIST TafiE (DY HERIUN gm
A frafafaa § @ 59 oREel A 6 I
Q 1000 Hiex A HH 27?
(A) RERITE \B) AT TETS
(C) T RreR (D) BweTTE
C%Z“/@iﬁmmwwwzsmmﬁﬁm
oy ¢t
D W egaTTe (B) TR
N O (BY Hfierarst
-
Q%'ﬂmmqﬁﬂ?{'aﬁmmgﬁsﬂ?
N .
(A) 1941 H (B) 1935 |
3 (C) 1938 & (D) 1932
576/ R sy Rl wwéR @ fe o
5 HET E? -
R CAE (B) P ﬁ
- (C) eHr (D) &1
- Rt (i) e el @ AR 7
uf¥g 27
() Ffear 2 48) dara
(©) Bi wrarr (D) frerrlt A
Jm*fé’l‘\fﬂﬂawaﬁ@nﬂ
aﬁ’sﬁ,- -aﬂ/gf}
(A) R < B aad e .
(C)W (D)W{ﬁﬂmﬂ(‘\
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79

80.

81.

82.

83.

sangeet Raj, Sangeet Mimansa and suda
prabandh was written by -

(A) Kanha Vyas (B) Rana Sanga
(C) Maharana Kumbha (D) Maharana Mokal

chief Secretary of Rajasthan State is selected

by -

(A) Chief Justice of High Court

(B) Speaker of the Legislative Assembly
(C) Chief Minister

(D) Cabinet

The only goddess of Rajasthan whose broken

idol is worshipped -

(A) Sheetala Mata (B) Shila Mata

(C) Chamunda Mata (D) Nagnechi Mata
‘Which of the following oilseed crop is not
cultivated in Rajasthan during the Kharif
season?

(A) Soybean (B) Mustard

(C) Sesame (D) Groundnut

‘Mukam’ is famous for -

(A) Kabirpanthis (B) Bishnois

(C) Ramsnehis (D) Jasnathis

According to the Vikram Samvat Calender, on
which day the Sheetala Ashtami is celebrated?
(A) Ashwin Krishna Ashtami
(B) Chaitra Shukla Ashtam!
(C) Chaitra Krishna Ashtam!
(D) Falgun Shukla Ashtami

-

S wfia o

afrea A

Uq s Ydg b
TAATBI 2
(A) dhlwl MY (B) 1o A7y
) 7ERIUI B (D) &[0 Hied A
80. w1 @ e Wfdd dl aue fdur s 2
v
(A) Sod ATAI B HI AT ST
(B) fqer=1 |41 Srede] gl
- (& AT g]T
S (@ S g
o) 1. S | { 7;"
& e & THAE o ol @fvsd 5ia @
g ol B ST & —
o) &Y et AT (B) fram aren
o
L (C) grgUsT AT (D) ATTOTET AT

\gfﬁwﬁlﬁaﬁrﬁﬁaﬁqﬁﬁaﬁaﬁw

<r oReE  @de @ ded # 9E TE A
o 2?
&) (A) FrEITEE By Twar
8 © R (D) e
g‘y«'w'm%—
D () wERdRri @ fory @) R @ T
"_q_ (©) FARET B farg (D) SR & B
» o 7= 1g ST &7
8 (A) 3f¥a P <Al
N (@) I g s

(C) T T Ay
i

(D) BT el eH]
Eycﬂ?ﬁi $ AR 97 & GRIYd o

8. The founder of the Chauhan dynasty of Jaloreg
was - dad o) (A) aRTS =R (B) Freed
(A) vatsaraja Chauhan (B) Kanha adeva a:
an " T i
C-haAu ﬁ; (C) qI©3a =g+ u)ﬁ RO
(€) Viramadeva (D) kirtipal Chauhan =y
Chauhan o \/ 9 :
8 lap) 86/ VVIRATH H gtayur yideyy w1
6 The period of south~west monsoon N~ N &
Rajasthan is - (A) T0d :
Udday 9§ 139y B) 1<
(A) September to (B) May to August | e (
December (©) S 9 e’ (D)
L
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87.

88.

89.

90.

91.

92.

93.

%,

130.5 =

As per 2011 census, which of the following ;/

district pairs did show the density below 100 in
Rajasthan?

(A) Bikaner, Ganganagar, Barmer

(B) Barmer, Pali, Bikaner

(C) Jaisalmer, Churu, Bikaner

(D) Jaisalmer, Bikaner, Barmer

Which among the following (Palace-Place)
pairs is not correctly matched?

(A) Abheda Mahal — Alwar

(B) Juna Mahal - Dungarpur

(C) Abli Meeni ka Mahal — Kota

(D) Pushpak Mahal — Sawai Madhopur

Which of the following is not one of the ‘Panch
Peers’ of Marwar?

(A) Gogaji (B) Ramdeviji

(C) Hadbuiji (D) Tejaji

Which pair is not correctly matched with
respect to the freedom fighter of Rajasthan and
his place of work (State)?

(A) Gopilal Yadav — Alwar

(B) Balmukund Bissa — Jodhpur

(C) Hiralal Shastri — Jaipur

(D) Raghuvar Dayal Goyal — Bikaner

Which is the smallest agro climatic zone of
Rajasthan? ' '

(A) Humid southern plain

(B) Semi-arid eastern plain

(C) Irrigated north western plain

(D) Flood prone eastern plain

Magarmandi Mata Temple is situated at -
(A) Nimaj (B) Auwa
(C) Kiradu () Goth Manglod

Manjira and Chautara are played with which of
the following dance form?

(A) Terah Tali

(’:) Gair

(B) Ghoomar
() Bhawai
Bhoji lambardar was related to -

(A) Begy) Peasant Moverent

) BUOIiya Peasant Moverment

(C)
(D)

Marwar peasant Moverment

Bharatpur peasant IMiovement

2011 B1 STUET @ AFPAR, ORI #
f=rferRaa & 1 fow et @ SIS 71 g9 100
3 BH fezar?

(A) TR, TR, dIgHY

(B) qTewR, UTefl, diepr1?

(C) SRTePR, &, didbTie

) SFTR, o, areie

%yﬁfﬂ'f%fﬁgﬁ ﬁ ﬁ ?ﬁT:f 71 (Wﬂ‘d-ﬁ;".{) ){m

T 87

(A) ST AEA — 3fcTa¥

(B) T #edl — GIRYR

(C) argell Wofl &1 A8 — P
(D) quI HEel — AT AR

8Y senfafad # & & ARAe & 9 IR’F F 7

TP TRl B?
(A) TRTTSH (B) I\ea it
(C) BSq oft (RY TSt

MO & GdadT A9 U4 331 Havie
(Xr59) & Hdg # DI A7 T GHOIT el 57
(A) TreTe ITed — 37l

(B) qrerqp< faqr — SR

(C) ERTITS M — FIR

(O gR <A TR — dHER

S

9.2/Wm:cﬁ HTaT HfeR el IR JaId ©

CE

o
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)
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(C) farg (D) M3 AT
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@ e qrcll (B) £

(C) i (Y AEEIR
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95

96.

97.

98.

99.

100.

which of the following statement is not true

with respect to Saint Dadu?

(A) His teachings are collected in “Anbhai
Vani”.

(B) He is known as “Kabir of Rajasthan”.

(C) He was a poet sainf from Guj'arat.

(D) Satsang places Of Dadu Panthi sect are
called “Alakh Dariba”.

The Princely State that was merged in the

United Rajasthan on March 25, 1948 is -

(A) Bharatpur (B) Alwar
(D) Pratapgarh

(C) Sirohi
Who is called the Deity of ‘Kala and Bala’?
(A) Kallaji - (B) Tejaji E
(C) pabuji (D) Biggaji
In which area was the identity of Allah — Jilai —
Bai? v ’
(A) Manganiyar-folk (B) Langa singing
song

(C) Maand singing (D) Havelli singing

Which colors areé usually used
print?

(A) Pink and Browrn.
(C) Black and White

Which fort amongst th
ter fort’?
(B) Taragarh fort

(D) Bhainsrorgarh fort

in Ajrakh

(B) Green and White
(D) Blue and Red

e following comes in the

category of ‘Wa
(A) jaigarh fort
(C) Achalgarh fort

7

)

96 i arg @ derd @ frefafaa d g an
hor qa dsl 27
(A) S’T‘I'Ef\; He9T "(z,rU]'lTr;[rr‘”“ & Hqufza

(B) g% CRITSTEITA Dl ff;?j’TJ’,' M FHZT AT
@ a ToRTd @& U Hfd AT 2

(D) g HUeTd & FoHT A AAE

arg,

HEAT 2 |
96. 25 Wrd, 1948 P I T # T
g Rarad o —
(A) AR (B) arefa?
(C)ﬁl—\ﬁ (@) gdraTe
(A) ol ST (B) T
(C) urq Sl (D) RS

/W RS — a5 @ TEAE fEE G

(A) qwrﬁnm? ot a (B) F IS
(D) gail IS

aoRE fiie § mwdR o fdF T C
fpar SIraT 87

- (@) wis T

(A) e SR R (B) ¥ S

(C) rem 3k WHg (P AT T
1%%“‘:11:&{@?{ q Q praar -9 <7

H AT 87

(A) STaTTe E\FT (B) IR

(C) 3ractite il (B) RIS
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